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= Support for Ruby, Javascript,
XQuery, Pascal
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and it's fun:)






public class

public v

asser
H Workspace3

alitalk_?

public vc

assertk
. Java addToClassPath: '/home/m/Projects/libjava/tests/libjava/'
public ‘Java classForName: 'stx.libjava.tests/JUnitdTests'.
1 ‘ "--> stx.libjava.tests.JUnit4Tests"
public : (Java classForName: 'stx.l. va.tests/JUnitdTests"')

performStatic: #'main([Ljava/lang/String;)V' with: nil.
u__>|
"Expected output: 3 run, 1 failed
Y getRunCount () = 3

tat 9 .
nulblile simisy getFailureCount () =



public cl

st

public

zero equal 5-5 test",0, (5-5));
Workspace3
File Buffers Edit View Bookmarks Execute Warkspace Smalitalk ?
409 | E # =
|8 =ile Help
iy

"lgava add Fail

2
Java cla

3run, 2 passed, O failed, 1 error
I

4 Categories| Packages
(Fava cl75 AnnotationTests
£ changed * AsmTests
ClassLoaderHierarchyTests
n__sbcgoodies/sunit ClassLoadersTest
stx:libjava * C\assLaadmgTe;s{t@

’ Expectec DelayedNotfyTe
JUnit3Tests

per

8
[getRunCc

. LogdJTests
getFailt »|RegexTests
-|StartAndStopTomcatTests

: staticvsinstanceResolvingAndLor
v

i|etrinaTocts

Run Selected Debug

Marcel Hlopko

Result History

- P stlibjavaitestsiUnitd Tests |

& helloworld()V [p )
P helloWorldwillNotPass()V
& stringEquality()V [f |

Run Errars




1 am nol
pleased,

Marcel Hlopko






= loads Java .class files



= loads Java .class files

= executes Java bytecodes (no
translation)



= loads Java .class files

= executes Java bytecodes (no
translation)

= no difference between Java and
Smalltalk objects
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Class Loaders
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Exceptions

finally



Marcel Hlopko



|| Apache Tomcat

.2 swing.fit.cvut.cz

rii & VMSpec [wto watch [@ist [ ebee [ guitar

ol ww [l lisp [l cs

[l katad
Apache Tomcat

If you're seeing this page via a web browser

As you may have guessed by now, this is the def:

\TALINA_ HOME/ webapps/ROOC

dJocumentation

where "SCATALINA_HOME" is the root of the Tol
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